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data frame d OO 0O

> summary(d)

N y
Min. :8 Min.
1st Qu.:8 1st Qu.:
Median :8 Median :
Mean :8 Mean
3rd Qu.:8 3rd Qu.:
Max. :8 Max.
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.00
.00
.00
.08
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X
Min. 7
1st Qu.: 9
Median : 9
Mean : 9
3rd Qu.:10.
Max. :12.
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»8}
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.965
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C:50
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> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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1

1 4 exp(—=2;)

> logistic <- function(z) 1 / (1 + exp(-2)) # 0O OO0

> z <- seq(-6, 6, 0.1)

> plot(z, logistic(z), type = "1")
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logit is the inverse function of logistic function, vice versa
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> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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RO data.frame: 00 Area, 000 x, 000 y

> load("d2.RData")

> head(d, 8) # 0O 8 0000

Area
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> plot(d$x, d$y / d$Area)
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> plot(d$Area, d$y, cex = d$x * 2)
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RO ¢glm(OO0O00O0O0OOOOO

> fit <- glm(y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area))
> print (summary (fit))

Call:
glm(formula = y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area))

(...0..0
Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 0.321 0.160 2.01 0.044
X 1.090 0.227 4.80 1.6e-06
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